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QUESTION 1

Which statement is true about upgrading the Content Server? 

A. You must always install each interim release. 

B. You are only required to install the target release. 

C. You must always uninstall the running version before installing the new release. 

D. You can sometimes skip interim versions but only if the documented upgrade path allows you to skip release
installations. 

Correct Answer: D 

 

QUESTION 2

What is the purpose of the dm_audittrail_acl object type? 

A. It indicates which ACL to apply to the audit trail entries. 

B. It is a special type for ACL change events. 

C. It stores information about ACL changes on dm_sysobject objects. 

D. It is a type used to monitor changes made to groups belonging to ACLs. 

Correct Answer: B 

 

QUESTION 3

You receive an application from the development department, and you detect there is a new issue causing 

poor performance. 

Which application tuning sequence is correct? 

A. 1. identify long-running queries and statements2. analyze query using RDBMS tools3. locate corresponding query in
the log4. trace slow operations5. tune query by re-composition or adding indexes 

B. 1. trace slow operations2. identify long-running queries and statements3. locate corresponding query in the log4.
analyze query using RDBMS tools5. tune query by re-composition or adding indexes 

C. 1. tune query by re-composition or adding indexes2. locate corresponding query in the log3. trace slow operations4.
identify long-running queries and statements5. analyze query using RDBMS tools 

D. 1. locate corresponding query the session log2. analyze query using RDBMS tools3. tune query by recomposition or
adding indexes4. identify long-running queries and statements5. trace slow operations 

Correct Answer: B 
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QUESTION 4

Which statement is true about Content Storage Services (CSS) "standard" rules? 

A. Content can be migrated based on the value of the object\\'s object_name property. 

B. Content can be migrated based on the value of the object\\'s subject property. 

C. Content can be migrated based on the object\\'s file format. 

D. Content can be migrated based on the object\\'s lifecycle state. 

Correct Answer: C 

 

QUESTION 5

How do you delete a repository? 

A. use Documentum Administrator to delete the files used for the repository\\'s tablespaces 

B. use Documentum Server Manager 

C. select Configuration > Repository option in Documentum Administrator 

D. use any database utility to drop the tablespaces used by the repository 

Correct Answer: B 

 

QUESTION 6

Which DQL hint could be used to help to optimize a complex query where the join seems to be the major bottleneck? 

A. INDEX 

B. RETURN_TOP 

C. FORCE ORDER 

D. OPTIMIZE_TOP 

Correct Answer: C 

 

QUESTION 7

Which statement about audit trails is true? 

A. Users can view, modify, and delete their own audit trail entries. 

B. All audit trail entries are available to all users who have BROWSE permission to the audited object. 
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C. Users must have purge audit privileges to remove audit trail entries. 

D. Only the installation owner has the ability to alter the audit trail. 

Correct Answer: C 

 

QUESTION 8

A user changed her Documentum user name because of a name change. You need to keep all the references in the
content repository correct after the change. How do you change the user name from the old to the new? 

A. use Documentum Administrator to delete the old user name and create a new user name 

B. use Documentum Administrator to reassign the old user name to the new user name 

C. use Documentum Administrator to inactivate the old user name and then create a new user name 

D. change the user name on the operating system and the content repository will automatically inherit the new user
name 

Correct Answer: B 

 

QUESTION 9

What is propagated by the federation update job? 

A. DocApps 

B. users and groups only 

C. users, groups, object types 

D. users, groups, and external permission sets 

Correct Answer: D 

 

QUESTION 10

If a servlet-based software module is not responding, what are two examples of log information provided in the servlet
container logs for the Java Method Server and similar modules? 

A. data file I/O failures and SQL query response timing 

B. standard output and http request/response 

C. user authentication failures and record of application events 

D. RPC command trace information and Content Server response timing 

Correct Answer: B 
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QUESTION 11

Your organization has a TCS-enabled repository with an HR group defined. All HR documents created get the \\'HR
documents\\' ACL applied to them, which gives the HR group VERSION permission. There is an AUDITORS group in
the HR group that should only have READ permission. How would you grant VERSION permission to HR and only
READ permission to AUDITORS? 

A. You create a new HR_editors group with all the HR members except the AUDITORS and use in the\\'HR
documents\\' ACL as follows: 

B. You use the existing groups as follows: 

C. You create a new HR_editors group with all the HR members except the AUDITORS and use in the\\'HR
documents\\' ACL as follows: 

D. You use the existing groups as follows: 

Correct Answer: D 

 

QUESTION 12

After a new Webtop installation, users are reporting the following error when editing or viewing a document: Failed to
retrieve content from ACS/BOCS servers(s). The ACS/BOCS server(s) may be down or your machine may not be able
to reach the server(s) due to network connectivity or configuration issues.
com.documentum.ucf.common.UCFException: All remote hosts failed... What could be the problem? 

A. The Unified Content Facilities (UCF) have not deployed properly to the client workstations. 

B. The host name in the acs_base_url attribute of the Accelerated Content Services (ACS) configuration object is not
known on the client side. 

C. There is an error with the Branch Office Caching Services (BOCS) definition in the Webtop app.xml file. 

D. An incorrect host or port number is specified in the [DOCBROKER_PRIMARY] section of the dmcl.ini on the
application server hosting Webtop. 

Correct Answer: B 

 

QUESTION 13

Which user account will be used when running the Repository Configuration program? 

A. superuser 

B. installation owner 

C. web user 

D. database user 

Correct Answer: B 

E20-465 Practice Test | E20-465 Study Guide | E20-465 Braindumps                                5 / 6

https://www.passapply.com/e20-465.html
https://www.passapply.com/e20-465.html
https://www.passapply.com/e20-465.html


https://www.passapply.com/e20-465.html
2024 Latest passapply E20-465 PDF and VCE dumps Download

 

QUESTION 14

Where can you define "Maximum Authentication Attempts"? 

A. dm_auth_config object 

B. dm_docbase_config object 

C. dm_user object 

D. dm_ldap_config object 

Correct Answer: B 

 

QUESTION 15

During an upgrade, the following error message is reported by one of the post install scripts: 

com.documentum.install.shared.common.error.DiException, err, An exception occurred in: 

DiWAServerSetStorageLicense, 

beanID: setStorageLicense2 - DiWAServerSetStorageLicense failed! [DM_API_E_BADATTRNAME]error: 

"Bad attribute name \\'r_storage_mode\\' for document/object. 

How can you detect this prior to the upgrade? 

A. run filesystem checks 

B. run the Data Dictionary Publisher job 

C. run the Consistency Checker prior to upgrades 

D. run the dm_error utility to obtain information about the error message 

Correct Answer: C 
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